


Generic antonia 4 footiesb
of k[✗12,27
-

(Q , M , K) regular local wing

I C- Q a perfect ideal

F. him'd free resolution

at R = QII over Q

rank F
,
= m

rank , F,
= h

A = H( F. ⑧at) = To (R, K)

pdak = codepth 12

= cockier R

Recall :

Cochin 12 = 1 ⇒ 12 4ype=-
surface



Cochin 12=2 =)

( il R c. i. ⇐
Lil A=rcñ;

(iil 12
Coked Lei ) (A> 15=0

Cochin 12=3 ⇒ R is

(it c. i cost

(ii ) cooked ⇐ 11-10,0)

(iii) Gov . not c.
i. G(r=n )

( iu) sntl . else ccv< ni

HCP, 8) Pez>0

B
,
T

Them [ 14] If Cochin 12=3

then I is linked to a.

grade 3 perfect ideal]

51£ Q/I is c. i. or coked



Re If codin 12=2 then

I is tin led
to a trade2

perfect ideal
T.sk only

is c. i.

- ✗-

The realization pollen [33 :

• conjectures for I of

grade 3 .

• If I has flack I and

dino/S - depth QIT = 2

then T is of class 11-(0/0)

. If T has grade 3 and

din QIT - depth 049=1
,

"
we know nothing! "



Software for experiments :

- [7] Finds the pudacts

on a graded fee resolutions

of length 3 over kEi
• [ 9J Classifies goofiest

12 of codephn 3 of KEK - •✗s] .

Prltl =
gct, men, Pc F)

T-riti-e-%E1.IE?EYClassilicatiosAlg
. [ 107

.



Specializing :

Q = k[×, Jez] , he
= ( ti 2,21

Cochin R =3 ⇐ R actinia s

⇐ his -11 c- I

I homogeneous

S : = socle deyoe
of R

.

A = Ton¥ CR , kl

= H( F. ⑦a K)

= It ( F. ⑧a 1×0442,2))

= It (12×0,21×0442,22)

= 11-(1×1472,2))

<< 1988 :



12 is Cocensteis ⇒

A = 11-(1×1442,21) is s

Poincaré duality algebra
2

R Colod ⇒ (1+(1×1472,2))> c)⇒
Focusn=2:_

Generically these cogs ace

of class
"

GCH
"
with

0 Ers n -3

Take a 1004 at A for Gcu)

?Ñt!-
e
, i

;

t÷-;&
A = PEV



Sock = k<uiv>

IVI = 5

101 = S
,

Se Es

If Sits , thee 12 Coked

If S
,
<as , then

12 is

of class Gcu) ( v> 0)

"

proof of behavior
"

I = I , h Iz :
QCI

,
and

Q/ Iz Cov.

F.
"

¥7 Fae⇒F!
I t I

0-11×-712-7 Q/Iz -70


